Dear all
we hope you are enjoying your weekend.
Suggested Homework:
1) Build a spreadsheet for the 3.5% 1st december 2019 government bond (the coupon is 1.75 every six months paid on 1st december and on 1st june each year. Repaymennt of  101.75 on 1st December 2019).
assume that the trading day is monday 3rd october 2016 (that means that the settlement and value day is 3 days later)
QUESTIONS:

If the prevailing interest rate is 1,5% (this is the annual rate you use to discount the bond cash flows, but remember to calculate the equivalent 6 months rate since the coupon are paid semiannually) what should be the price of the btp (dirty and clean)? What happens to the price if the prevailing interest rate increases to 5%?
Now assume the price of the bond is 110.74  clean. 

Calculate the yield to maturity of the bond. Remember to use the dirty price for this calculation.
All the best
Massimo Armanini 
